

$$\langle \mathbb{1}_- \rangle \xrightarrow{L} \mathbb{1} \xrightarrow{J} \mathbb{1} + \langle \mathbb{1}_- \rangle$$

$$\mathfrak{L} = \begin{pmatrix} \mathfrak{L}^\ell \\ \mathfrak{L} \end{pmatrix} \in {}_p \mathbb{1}^q$$

$$\mathfrak{L} := \begin{pmatrix} \mathfrak{L}^\ell \\ \mathfrak{L} \end{pmatrix} \in \left(\mathbb{1} + \langle \mathbb{1}_- \rangle \right)^q$$

$$\mathfrak{L} \text{ inv} \Leftrightarrow \mathfrak{L} \text{ inv}$$

$$\Rightarrow : \mathfrak{L} \text{ inv} \Rightarrow \mathfrak{L} = \setminus \mathfrak{L} \text{ inv}$$

$$\Leftarrow : \mathfrak{L} \text{ inv} \Rightarrow \bigvee_{\mathfrak{L}} \underbrace{\mathfrak{L} \mathfrak{L}}_{\sim} = \mathfrak{L} \mathfrak{L} = I = \mathfrak{L} \mathfrak{L} = \underbrace{\mathfrak{L} \mathfrak{L}}_{\sim}$$

$$\mathfrak{X} := I - \mathfrak{L} \mathfrak{L} \Rightarrow \mathfrak{X} = 0 \Rightarrow {}_k \mathfrak{X}^\ell = 0 \Rightarrow {}_k \mathfrak{X}^{n+1} = 0 \Rightarrow {}^n \mathfrak{X}^1 = 0$$

$$\mathfrak{L} \mathfrak{L} \underbrace{I + \mathfrak{X} + \dots + \mathfrak{X}^n}_{\sim} = \underbrace{I - \mathfrak{X}}_{\sim} \underbrace{I + \mathfrak{X} + \dots + \mathfrak{X}^n}_{\sim} = I - {}^n \mathfrak{X}^1 = 0 \Rightarrow \mathfrak{L} \underbrace{I + \mathfrak{X} + \dots + \mathfrak{X}^n}_{\sim} \text{ right inv}$$

$$\mathfrak{Z} := I - \mathfrak{L}' \mathfrak{L} \Rightarrow \mathfrak{Z} = 0 \Rightarrow {}_k \mathfrak{Z}^\ell = 0 \Rightarrow {}_k \mathfrak{Z}^{n+1} = 0 \Rightarrow {}^n \mathfrak{Z}^1 = 0$$

$$\underbrace{I + \mathfrak{Z} + \dots + \mathfrak{Z}^n}_{\sim} \mathfrak{L}' \mathfrak{L} = \underbrace{I + \mathfrak{Z} + \dots + \mathfrak{Z}^n}_{\sim} \underbrace{I - \mathfrak{Z}}_{\sim} = I - {}^n \mathfrak{Z}^1 = 0 \Rightarrow \underbrace{I + \mathfrak{Z} + \dots + \mathfrak{Z}^n}_{\sim} \mathfrak{L}' \text{ left inv}$$

$$\frac{\mathfrak{L} \mid \mathfrak{L}}{\mathfrak{L} \mid \mathfrak{L}} = \frac{{}_i \mathfrak{L}^j \mid {}_i \mathfrak{L}^n}{{}_m \mathfrak{L}^j \mid {}_m \mathfrak{L}^n} \text{ even}$$

$$\frac{\mathfrak{L} \mid \mathfrak{L}}{\mathfrak{L} \mid \mathfrak{L}} \text{ inv} \Leftrightarrow \mathfrak{L} \text{ inv} \mathfrak{L} \text{ inv}$$

$${}_i \mathfrak{L}^n \in \mathbb{1}_- \ni {}_m \mathfrak{L}^j \Rightarrow {}_i \mathfrak{L}^n = 0 = {}_m \mathfrak{L}^j \Rightarrow \frac{\mathfrak{L} \mid \mathfrak{L}}{\mathfrak{L} \mid \mathfrak{L}} = \frac{\mathfrak{L} \mid 0}{0 \mid \mathfrak{L}}$$

$$\Rightarrow \frac{\mathfrak{L} \mid \mathfrak{L}}{\mathfrak{L} \mid \mathfrak{L}} \text{ inv} \Leftrightarrow \frac{\mathfrak{L} \mid \mathfrak{L}}{\mathfrak{L} \mid \mathfrak{L}} = \frac{\mathfrak{L} \mid 0}{0 \mid \mathfrak{L}} \text{ inv} \Leftrightarrow \mathfrak{L} \text{ inv} \mathfrak{L} \Leftrightarrow \mathfrak{L} \text{ inv} \mathfrak{L}$$

$$\begin{aligned}
& \overline{\mathbb{1}} \mathbb{1} \overline{\mathbb{1}} \overbrace{\mathbb{1} \overline{\mathbb{1}} \overline{\mathbb{1}} \mathbb{1}}^{-1} \overline{\mathbb{1}} \overline{\mathbb{1}} + \overline{\mathbb{1}} = \overline{\mathbb{1}} \overbrace{\mathbb{1} \overline{\mathbb{1}} \overline{\mathbb{1}} \overline{\mathbb{1}}}^{-1} \overline{\mathbb{1}} \\
\text{EX } & \frac{\mathbb{1} \overline{\mathbb{1}} \overline{\mathbb{1}} \mathbb{1} \mid 0}{0 \mid \mathbb{1} \overline{\mathbb{1}} \overline{\mathbb{1}} \mathbb{1}} = \frac{\mathbb{1} \mid \overline{\mathbb{1}}}{\mathbb{1} \mid \overline{\mathbb{1}}} \frac{\overline{\mathbb{1}} \mid 0}{0 \mid \overline{\mathbb{1}}} \frac{\mathbb{1} \mid \overline{\mathbb{1}}}{\mathbb{1} \mid \overline{\mathbb{1}}} \\
\frac{\mathbb{1} \mid \overline{\mathbb{1}}}{\mathbb{1} \mid \overline{\mathbb{1}}} &= \frac{I \mid \overline{\mathbb{1}} \overline{\mathbb{1}}^{-1}}{0 \mid \frac{I}{2}} \left(= \mathbb{L}_+ \right) \frac{\mathbb{1} \overline{\mathbb{1}} \overline{\mathbb{1}}^{-1} \mathbb{1} \mid 0}{0 \mid \overline{\mathbb{1}}} \left(= \mathbb{L}_0 \right) \frac{I \mid 0}{\overline{\mathbb{1}}^{-1} \mathbb{1} \mid I} \left(= \mathbb{L}_- \right)
\end{aligned}$$